o T

7 : = today /
5 & - &, =alittle, for a while
D

%->T=%%, £LT, =remainand ....
* 5% % = <plain-style-nonpast-affirmative> of %0 £ 9 g1 (remain, be left)

b

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

LceE

TELT>T=AFELTWVW>T H5 XML 7? =can | not receive a favor from you? The favor

is ‘you work and go (home)’.
*£E LT WE X9 =work and go, work and leave the place

* [te-form] £ 5 Z_ 7%\ = | cannot receive a favor from (X). The favor is ‘doing ~’. =
<plain-style-nonpast-negative> of ‘[te-form] & 5 X F 9’ (I can receive a favor from (X). The
favor is ‘doing ~’; | can have (X) do ~) which is

the potential-verb of [te-form] 5 UL\& 97 (I receive a favor from (X). The favor is ‘doing ~’; |
have (X) do ~) //

Today, can you stay behind for a while, work and go home?
Today, can | not receive a favor from you? The favor is ‘staying behind for a while, work and go’.

SHTYI N, =Today?
o)
IV, MDD FE U, =Yes, | understood. ; OK. //

-—

IHFE A =1am sorry.

5%\&Ejl %( rofc ATY, =1was late today. ; | came late today.

* 7% o fz = became = <plain-style-past-affirmative> of 72 D £ 9 g1 (become)

* AL C9, =][plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] AL T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
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because ......
— A, can be changed to M. //

%D &, =remainder, the rest, remnant, remaining, residue, leftover + & <topic particle> /
&% & = remainder, the rest /
N 1213 T9, =(X)is only this //

The remainder is only this.

RZA. = hey,/

E@%L%b\ R E S £ T, = until the movie starts

* $hE % = <plain-style-nonpast-affirmative> of #8& D £ 9 g1 (start) /

EoM T=EIH T =atsomewhere /

Elb#hF'a% =time /

/,\37‘8\\:\ = don’t smash = <plain-style-nonpast-negative> of }& L & 9" g1 (smash, crush)
KAz ELU X9 = pass time /

?

* The negative-question can be used to show the invitation. It means ‘Why don’t we do ~

together? Shall we do ~ together?” & //

Hey, why don’t we pass time at anywhere until the movie starts?

FTURA WED

BED L 5 U»7AL\, = You look very busy, | want to confirm with you.

* [masu-form / stem of i-adjective / stem of na-adjective] > T9J =it looks like that ~, (X) is
going to do ~ at any moment

* U 72\ = [plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] U % (or Ti¥) %
LY =

<plain-style> of .... U+ (or Tl&) D X AD =....., don’t you think so? ; ....., | want to confirm
with you //
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AEER  HE

EREIDIE = the shop which is located in front of the station /
|C <existence particle> /
785 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] &5 = if ~

<supposition> <lt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.>/

3 % = <plain-style-nonpast-affirmative> of % D £ 9 g1 (there is ~, have, exist) /

& <quotation particle> /

Bb

& S = <plain-style-nonpast-affirmative> of BL\& 9™ g1 = think /

|7& =1but 2 <used to show a hesitation> /

7%, = <used to convince oneself> //

If you are talking about the shop which is located in front of the station, | think that there is ~.

U . =then, if thatis the case /

J—k—7T% = coffee or something /

é)%’% Ic ?%Z > M. = <plain-style> of B (C WE XU & D H = Shall we go to drink?
* [masu-form] I ?%‘ac ¥9 gl =gotodo ~

* [masu-form] %i@“ g3 = come to do ~

* [masu-form] I ﬁ% N ¥ g1 =go back (return) to do ~

* {725 = volitional-form of 7TZ &9 g1 (go)

* volitional-form / [masu-form] & U & 5 =1 Let’s do ~ together. 2 1 shall do ~ //

Then, shall we go to drink coffee or something?

M:
ELS5 0 <

S
TERD N\1F 2T, EniE Bh ol DIT, = Regarding hiking on Saturday, although you

should have come, (you didn’t come).
You should have gone on the hike with us on Saturday.

< =
* Enid =if (X) come = conditional-form of k&9 g3 (come)
ES
* RMv o fz = was good = <plain-style-past-affirmative> of L\W T (RULTY) (be good)
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* [conditional-form] L WY = should do ~

* [conditional-form] & H¥> 7= T9 = should have done ~

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ®|C =1 although ~, in spite
of ~ 2inorderto ~/

V=

S = H L
RO HE=ICTIE. 0. = on another occasion, certainly (without fail, by all means)

* #< = chance, opportunity //

Please do invite me next time. ; | will go with you next time.

Wo L &
Uy d. S—fEWEZUET, =Then, | will do it with you together.
*W/e UE 9 = humble-verb of L X9 g3 (do) //

ThE
WWRSRUIT 77D £5TY 13, = It looks like that it is going to be fine weather.
* [masu-form / stem of i-adjective / stem of na-adjective] > T79 =it looks like that ~, (X) is
going to do ~ at any moment //

3&F

F:

HD. =errr,/
WE

£, =now

U oA
BB £B30WTU &£ 5H% = more polite than BEfE WLWWT I H = Is it OK for me to waste

your time? May | talk to you?
* &5 UL\ =good, OK, all right, fine, very well, will do, may, can = much polite than L)LY

*TU & 2D =[plain-style (but, ‘da’in [na-adjective / noun] da’ must be omitted.)] TUL & 2 H

is more polite than the question which ends the normal polite-style, and is often used when you
question your superior.
*Actually TU & 3 means ‘1 Probably ....... 2 e , right? //
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M:
]
Zo é:\ = Let me see, ; Let me think, /

4H#5 ’C?J:o = It is four o’clock and five minutes.

EFwn

HWic< %ACJE) BFETHY 72 < To = Unfortunately | also don’t have a watch and ..

* 78 < T =te-form-negative of &6 D ¥3 g1 (there is ~, have, exist)

* [nai-form 7R\ — 7R\ T] = O [nai-form 7L\ — 9 (IZ)] = without doing ~

Y ULBWT =87 (IZ), not LT (IC)

* [nai-form 7L\ — 72 < T] = A [nai-form 2Ly — 9 ({2)] = don’t do ~ and ... <used to join
sentences>/ don’t do ~ and therefore <used to show a reason>

Y LiBWT =87 (I2),not LT (IC)/

Uw >3k
0 < 5L 25, =If you are talking about about ten minutes, ...

acWw

* 185 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] /& 5 = if ~

<supposition> <lt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.> //

= 0) > 525 BAEW 35

FER 7/8— KT, IeElkFz &5 2\035#03 SHEIC 2ot ATE. = Yesterday, at the department

store, | met my teacher who taught me when | was a senior hight school student by chance.
* Jc ¥ X = casually, unexpectedly, accidentally, by chance

K

%= o fc = met = <plain-style-past-affirmative> of =L\EX 9 g1 (meet)
* T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] AL T =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because ..... — A can be changed to @. //
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’\2_ = oh, yes?, really? <used to show admiration>

?%?gjéfcno = What a coincidence!

* @R = (by) chance, unexpectedly, suddenly, accident, fortuity, by coincidence

* [na-adjective, noun] /2 = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T9’ =is

(are, am) //

LEEE
F4 72 D5 13, = Because it is sometimes. ; Because | sometimes do it.

* [na-adjective, noun] 7Z = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T4’ =is
(are, am) //

bbb %\9 fz A72. = You took the trouble to meet him

* I & = expressly, specially, doing something especially rather than incidentally
*HEIPHE ~ UFXT =take the trouble to do ~

* &5 fz = met = <plain-style-past-affirmative> of £L\EX 9 g1 = meet

* L IZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’

becomes ‘na’.)] L TI9 ' =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

— A, can be changed to @. //

5%

M:

$» . =Ah! Oh! Alas!/
X7z = again/
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PoEpofc =¥P>7T ULX-o% =toone’s regret, (X) did it = <plain-style-nonpast-affirmative>
of > T ULFXWFXT (to one’s regret, (X) do ~)

*PDEXF =1do 2 (superior) give (inferior)

* [te-form] UL EWEJ g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely

*~1te shimaimasu— ~chaimasu

*~de shimaimasu— ~jaimasu/

&Ko =....,, you know? ; ..... | tell you. ; ....., | am convinced. //

Anh! | did it again.

2o LT Te=2-hmD LT Lz =wasn't being mindful, was absent-minded = <plain-
style-past-affirmative> of > 2 Hh'D LT LWX T = be not being mindful, be absent-minded

* 5 >M D = carelessly, thoughtlessly, inadvertently

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

/&%, = <used to convince oneself> //

| wasn’t being mindful. (I was absent-minded. | was being careless.)

2:2_9 . = What? Really? <used to express surprise> /

% L7c @ ? =what did you do?

* U fc = did = <plain-style-past-affirmative> of L &9 g3 (do)

* D ? = <plain-style> of ‘[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] A T

IhH = ... , | wonder?

P> T Hfc 57? =less polite than ‘> T H#fcS £ S TI HY = Why don't you try to do it?
*PDXF =1do 2 (superior) give (inferior)

* [te-form] & E 9 = try to do ~, do ~ and see how

* [plain-style-past] 5 &5 T3 Hs =Whydon’t you do ~? ; Why don’t we do ~? ; How about
doing ~7? ; | suggest to you that you should do ~. <suggestion>
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F:
feh
ZATE BV /Y OV, = an expensive personal computer like this /
T b T b
mIBLC =HIEJI 35, #ULT. =overexert
* I8 9 % = <plain-style-nonpast-affirmative> of &2 L £ 9 g1 = overexert, work too hard,

overwork
* #38 = unreasonable, impossible, overdoing

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.
* #%38 L T = unreasonably; forcedly, in a compulsory manner, forcibly, against one's will /

h
B> Z& B 130 =<plain-style>of ES Z & H(orld) & D £ A =don’t need to buy, do

have to buy
* B = <plain-style-nonpast-affirmative> of EL\& 9 g1 = buy

* [dictionary-form] Z & (& 8 D ¥ A =don’t need to do ~, do have to do ~ (N2 No.39) /
A U730\ ? =[plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] A U w7\ 7?

<plain-style>of ... L U » D XEAD =....., | wonder, don’t you think so? ; ....., | wonder, |

want to confirm with you
— A can be changed to M. U % can be changed toTI&. //

You don’t have to buy such an expensive personal computer forcibly, don’t you think so?

Z DM, =<plain-style> of €5 T H =Is that so? ; | see. /
al)
B> UM 2L = <plain-style> of ES ULH & D XA = (X) don’t have any other choice except

for buying
* B = <plain-style-nonpast-affirmative> of E\L\& 9 g1 = buy

* [dictionary-form] L A 8 D ¥+ A = don’t have any other choice except for doing ~ (N2 No.

40)
HY <question particle> //

| see. Don’t | have any other choice except for buying it?

8/17



E‘ LT é?b\o fc 5. =Ifitit OK with a little amount,

* BRH' o fc = <plain-style-past-affirmative> of L\L\TF (be good)

* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened

ﬁ% S>H = Shall I lend you?

* 8% S =volitional-form of EU £ 9 g1 (lend)

* [volitional-form] A" / [masu-form] & U & S H = 1 Shall we do ~ together? 2 Shall Ido ~?

If it is OK for you with a little amount, shall | lend you? &-

LW, = Nope, /

E 5 L 7% =no matter what, at any cost, at any rate, in the long run, by all means

Z}Zj\%@: A 1o = (X) is necessary.

* L IZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] L T9 ' =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

— A can be changed to @. //

Nope, | need it no matter what.

HD>S, =errm,/
Z Zl& = here, this place + (& <topic particle>/
%ﬁ: = | + [C <person acted upon in the transitive-verb-causative-sentence> /
CEZS 2T WeZIFEEA s = You make me treat you and can’t | receive a favor from
you” Could you please let me treat you? ; Would you please make me treat you?
%ﬂli =t £ 9 = make (a person) treat = causative-verb of Bt L £ 9 g3 (treat)
* ZBhE = feast, treating, banquet, something unusually pleasurable
* [te-form] W/c 21T R A D =You do ~ and can’t | receive a favor from you? ; Could you
please do ~? ; Would you please do ~?
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* [te-form] W/z 7217 F£ 9 = (X) do ~ and | can receive a favor from (X) ; | can have (X) do ~ =
potential-verb of ‘[te-form] L\/c72 & 9 ((X) do ~ and | receive a favor from (X) ; | have (X) do
~)/

PAQA e

[te-form] < 72& L\ = Please do ~

[te-form] < 72& WEE A D = Could you please do ~?, Would you please do ~?

[te-form] 5 X X 9I H. = Could you please do ~?, Would you please do ~?

[te-form] H 5 Z X A D = Could you please do ~?, Would you please do ~?

[te-form] W/=72 7 £ H\ = Could you please do ~?, Would you please do ~?

[te-form] W/=72 7 £ A D = Could you please do ~?, Would you please do ~?

PAQA e

Errr, could you please let me pay for your meal this time?

- =

L&59

D&>50D
HEIE, HEFTT 13, = You are good at cooking. (You are a good cook.) //

3 TniE EHh-7TT 13, =If you doit, it was good. (You should have done it.)
* I 1lE = if (X) do = conditional-form of L &9 g3 (do) //

L\, = Nope, /
Z2 WD bIFICFe =2 WD biF I [F WEEXE A, =You cannot do it. You cannot say

so. It cannot be like that.
* [dictionary-form] 1o (7 I (& WE X A = (X) cannot do ~ (because there is a reason) (N2

No.44A)
* %> WD = <plain-style-nonpast-affirmative> of > WL WX 9 =say so

* %> WD =such, like that, that sort of, very /
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P FELA
SE O WHED 7LE>yT— 3>, BhiEh Ko & ., = Yamada’s presentation of our

group was quite good.
* IZ VR DN =1 very, considerably, easily, readily, fairly, quite, highly, rather

2 (not) easily, (not) readily, be slow (in doing ~), by no means (with negative verb) /

* IZHNVEHY is sometimes used to mean ‘quite good'.

* 12 o fz = [na-adjective, noun] /2 o fc = (X) was ~ = <plain-style-past-affirmative> of ‘[na-
adjective, noun] T9’ =is (are, am)

BHED BRLT TBA = HED BRLT LWE A = He is not studying much.
*f3R U £ 9 g3 = study

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
M5 =because ~ /

o =....,isntit? ; ....., am | right? <confirmation particle> /

Because he is not studying much.

2
%j%él? Eéf,% L7c £5TY &Ko =Itlooks like that he prepared really properly.

* tH24 = substantially, in a substantial manner, considerably, significantly

* #{i5 U = = prepared = <plain-style-past-affirmative> of #f& U £ 9" g3 (prepare)

* £S5 7T9 = [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘{noun] da’ becomes ‘na’ and ‘no’
respectively)] & > T9 = (According my academic analysis, ) it looks like that ~, it seems that
~ < based on the subjective grounds>/

ZZ. =Yes,/

M7 D = considerably, fairly, quite, very

FIH 57 TY = (X) was poor-quality

* %ﬂgﬂ\ = unappetizing, unappetizing, unpleasant (taste, appearance, situation)
* ﬁb\ = poor-quality, shoddy, crude, unskillful, unskilful, bungling, clumsy /

o =....,isntit?; ....., am | right? <confirmation particle> //

Yes, his presentation was quite poor-quality.
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R

fAl = what

» Z

SEEIAAT % =ZE3AAT L3 = <plain-style-nonpast-affirmative> of ¥ 51 AAT WX J =be

feeling down now, be depressed now
* & B5IAHET g1 =1 feel down, get depressed 2 be in a slump (e.g. business, economy), be

in an unfavorable condition 3 fall into (e.g. a hole)
D ? = <plain-style> of ‘[plain-style (but, ‘da’ of ‘{na-adjective / noun] da’ becomes ‘na’.)] AL TT

M= ... , | wonder? — A, can be changed to @. //

Why do you feel down?

YN I @ Z & =as many things as possible, the thing which (X) can do as much as
possible -

* PN 3 = <plain-style-nonpast-affirmative> of 11X 9 (1 can do, be able to do 2 ((superior)
can give (inferior), (superior) be able to give (inferior)) which is the potential-verb of © D £9 (1

do 2 (superior) give (inferior)) /
* [plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes ‘no’.)]
1213 (D) = as much as ~ (N2 No.120C)

|& <topic particle> /
° o fc =did, (superior) gave (inferior) = <plain-style-past-affirmative> of ¥ D £3 (1 do 2

(superior) give (inferior)) /
hAhTU&o =Ah TL&D =

[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T3 =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to .

+
[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TU & 2 =‘1 Probably ....... b2 . ,

right? //

You did as many things as possible, right?
(You did what you could do as much as possible, right?)
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Z>. = What? Really? <used to express surprise> /

U

fAIAY = what + ¥ <subject particle> /

&

2B T % = %5 7T L% = <plain-style-nonpast-affirmative> of %% T L X 9 = be dropping

now, be falling now
* &5 %9 sg2 = drop, fall

D ? = <plain-style> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9
MN= ... , | wonder? — A can be changed to @. //

What? What is lying (on the floor)?

1 =Doit!; Give! = imperative-form of ¥°D £ (1 do 2 (superior) give (inferior)) /
> T = & <quotation particle> /

%5 25 =if (X) say

* & D = <plain-style-nonpast-affirmative> of L & 9 g1 (say)

* 185 = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 7& 5 = if ~

<supposition> <lIt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.>/
% = <plain-style-nonpast-affirmative> of D £9 =1do 2 (superior) give (inferior)

&Ko =...., you know? ; ..... [ tell you. ; ....., | am convinced. //

If you say, ‘Do it!’, | will do it. (If you order me to do it, | will do it.)

S h. =Yes,/
M AE
7E5R o /= = did one’s best = <plain-style-nonpast-affirmative> of i858k D &£ 9" g1 (do one’s best)

A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] L T9 ' =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because .....
— A can be changed to @. /

[7& =1but 2 <used to show a hesitation>
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ENT IHEXHFA. =1am sorry that | was late.

ENnT=EnxX¥ULk, £LT. =waslate and ...., came late and ....
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

F U &

ZBE5 D FATIE = this place + [& <topic particle>
Z 5 5 =1 this way (direction) 2 here, this place
c_ 55 O HPT = more polite than Z D HFT = this place /
Z_‘C Wiz 260D f£o 7z = <plain-style> of RXT W e DH D TU = | thought that |

memorized (remembered)
* [dictionary-form / nai-form] 2% D T =intent to do ~, don’t intend to do ~

* [dictionary-form / nai-form] 2% D T U7z = intended to do ~, didn’t intend to do ~
* [ta-form] DH D T9 = pretend to do ~, | thought that | did ~
* [ta form] 2% D TU/c = pretended to do ~, | thought that | did ~

Z_T L\/c = was memorizing, still remembered (memorized) = <plain-style-past-affirmative>

*

}3‘?

of ®X T WZXT (be memorizing now, still remember)

" Z X9 g2 = remember, memorize
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to @. /

. =1but 2 <used to show a hesitation> //
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<. = here, this place
WD [ < L = <plain-style-nonpast-affirmative> of 2H\D (C < LN T = be difficult (hard) to

understand
* [masu-form] I < L\ T = be difficult (hard) to do ~

* [masu-form] ¥ 9L\ T9 =be easytdo ~
AT =[plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] AL T9 =

sy T

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to @. /

& =...., you know? ; ..... | tell you. ; ....., | am convinced. /
o =....,isntit? ; ....., am | right? <confirmation particle> /

It is difficult to find this place.

EokS) e

B HE B<TH WWTT K, =You don't have to recall it.

*BUWH U ET g1 =recall, remember

* [nai-form /&L — 1< T] H LWL TT =don’t have to do ~, don’t need to do ~

M- TY. =(X) was good, /

F 29 < =straight /

57%'5 Nn<T, =Xk5NhE L, ZLT. =couldcome and ...

* L5 EF = can come, be able to come = potential-verb of gféiﬁ' g1 (come)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /

KD TT, 0T KSNT, —
£59<¢ KS5NT. &M>7%TF, = You could come straight (without losing your way), so it
was good. (it was lucky. | am happy about it.)
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1M1&

M:
HD>S, =err,/

H LT
BAH. =tomorrow /

ﬁﬂg%ﬁéb\ W5>UL» 23 H ESH. =whether Mr Tanaka (teacher) came here or not
*W5 > U % =<plain-style- nonpast -affirmative> of W5 > U WEY = (my superior) go,
come, stay = deferential-verb of ﬁ% £ g1 (go), 5!%&’9’” g3 (come), WLWE T sg2 (stay)

* [plain-style (but, ‘da’ of ‘{na-adjective] da’ and ‘{noun] da’ must be omitted)] 7 £ 5 H* =
whether ~ or not, if ~ or not <indirect-question> /

PhHh D XRIH, =Does (X) understand? //

Do you know whether Mr Tanaka will come here tomorrow or not?

L e Z
BEE & K&W DH D T, =I1don’tintend to come here tomorrow.
=
* E72 L\ = don’t come = <plain-style-nonpast-negative> of £ £ 9" g3 (come)
* [dictionary-form / nai-form] 2% D T9 =intend to do ~, don’t intend to do ~

2

&"a?%@ 12 = (X) is a holiday, (X) is one’s day off
& <quotation particle> /

1%739’( W&EJ, =be hearing now

* Ht\iﬁ“ g1 = special-humble-verb of

F'HE% 9 g1 (hear, ask),

—?bi@“ g2 (ask),

uﬁhiﬁ“ g2 (visit),

n)ﬁ’bi‘é" g2 (visit),

FS5HA

SHE L £ 9 g3 (visit)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

| hear that (tomorrow) is his day off.
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ZhAU

L
* A1 TY = special-deferential-verb of 1> T WX 9 (know)
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